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HAENAEFIZEI FFA. &8 FFA A NS = B N, 1A HUAE A R HE TR AR (4 %2) FFA — Cu.
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R Witk 60 mLx1 i, 4CIRAT;
R —: Witk 8 mLx1 I, 4°CIRTT;
R Wik 8 mLx1 i, 4°CIRTT;
WA= B i, SRR s
WGP A 18 mLx1 i, 4°CHRAF;

HARRILE:

LEAR: LEEMALR TR (g) « ZHOH mL)A 1: 5~10 [ELH] CRIRIXNZ) 0.1g HZR, A ImL
AR , BHTUKIBAF . E%REL 15min, 5000 rpm 4°CES 0> Smin, HUE AU .

2.0M35: IS0 w L IMIEREA, AN 1 mL ZERGE, ZEHIEI 15 min j5, 4°C, 5000 rpm &0 5 min, HUH
DR EESRIR

3. . ERAREE (1044 - FBURAR (mL) 2y 500~1000: 1 [FELH] (L 500 J3 40
N T mL ZEHCGED IINEEHUGR, UKIA 8 S B A (T2 300w, R 2 #0, [HFE 3 AP, S
3min) ; EHHRE 15 min, #RJ5 5000 rpm 4°CE > Smin, HUAHUAHAR .

W AV TR T L2, WATRAAE T T2, EENER, MRREZ I — 2Ry AR
e

MELER:

1. e BT 30min BL L, EF K E 550 nm.

2. TAEMRMECH]: IR HERRET— v - BFZ v s i F1= (m) =1 (mL) 1 (mL)
0.66 (g) MLLBIZ MRS . (EE: WHRE, HE R2D, EBPEH, KA&hHE 4 4%
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M, ekl — SRR IR A, BUEFE G =D
3. MERE: WEL750 w LEEA, MMA250 u LTAEW, i5%/5E%20min, 4°C, 5000 rpmES.025 min, 72/5
600 u L EZEHUAR, MIA300 u LiRFAPY, #2457, 10 min/5 T B FE L6 A I 52 550 nmAIWROGE, 8 NA
M5E -
4, THE: WIT50 w LERGE, 250 u LTAER, #%/55%%20 min, 4°C, 5000 rppm& (25 min, 7}/Z
JEEL600 1 L ZA A, 300 v LFFIPY, #2247, 10 min)5 T B8 HL LA I 5E 550 nm AT 61E, 18 MA
W5, =HERFW—R.
FAEHRFM—R. AA=ANE-ATH
VER: 1. AVUARISIER, I IS SRR I .
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FFA E=EitH.:
FrrEfZE: y=0.0322x - 0.0141 R?2=0.9985  x: FRAYERARAEMIKIE (nmol/mL)
y: WHEEEAA

1. I3 FFA &85
FFA (1 mol/mL)=(AA+0.0141)+0.0322xV1+(V3 X V1+V2)+1000
=0.621x(AA+0.0141)
2. FIWIHA. WY, g FRFA &8
(D) FhEAR R T
FFA 4 5( u mol/g £ )=(AA+0.0141)+0.0322xV1+ (Wx V1+V2) +1000
=0.031x(AA+0.0141)+W
(2) HHRAREAREITH
FFA % (1 mo/mg prot)= (AA+0.0141)+0.0322xV1+(V1xCpr)+1000
=0.031%x(AA+0.0141)+Cpr

V1: AREARKFR, 075 mL; V2: ZEEURAR, 1mL; V3: WA %) 4, 0.05mL; Cpr: #E&
EAFKRE, mgmL; W: SIMALEERTIE, g 1000: 1 1 mol=1000 nmol -

EREI:

1. EASEATEZHREDR ST AAE VAR BRI e, W] FH 2808 /K a2 o i sl A B 26 7Kk A A
H] [ BCA ¥:8 A& &l W5 &

2. wfEAH RSN 10 nmol/mL.



